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Computation of 
1p : 

 

                                                                  
1

1 g
z

p





 

                                           
11111 CzgCdzgp     

  Boundary condition:                                        
 

                                             0101 0, PCzPp   

                                                         011 Pzgp    

 

Computation of 
2p : 

 
Use the hydrostatic approximation in the wedge. Apply the dynamic boundary condition at 

the material interface LHxz / , and determine the pressure 
2p  in the coastal water.  
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Boundary condition: 
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